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B [ RERFRE| KRR | LENRRE =1 RHBEEERBEEELRC
DB TR EERLO® % (min)_[Q1(m3/9)[ Q2(m3/s)| @1+Q2(m3/s) oK | C | migitm) e
B K AL FWL 49.0[(m) 0 69.26 19 70.9 et 70 | 0.0100 RS 720 W B P33
LS EL 47.2|(m) 1 51.47 1.9 53.0 LIy 290 | 0.0263
-8t 7K % : H=FWL-EL 1.8{(m) 2 38.25 18 39.8 K 100 | 0.0095
HETKE:V 14,000{(m3) B EFRT O\ D DR SRR (1 3 2843 18 29.9 B 200
H K E(Costa): Qp 69.26|(m3/s)  |Qp=325(H-V)** 4 21.13 18 226 £ 70 | 0.0072
EERE:A 0.0530[km2 5 15.70 1.7 17.2 &t 0.0530
K ETE:A2 0.0085[km2 6 11.67 1.7 13.1 T By 185
r=a/(t"+b) 7 8.67 17 101
ERREHAIRT 22132 8 6.44 16 78 THodktE | f ifi i %
PEREER N 0.85 9 479 16 6.1 725 1.00 | 0.0100 REAHESH -0 Mk | P33
fERRE N 7359.61 10 3.56 15 49 (L 0.80 | 0.0263
PErRsRE Kb 36.1 11 2.65 15 3.9 K 0.75 | 0.0095
AR E BBt 17(4 §l_:21§;r]t_%ri’tb\50ﬁ§%\tfﬁ 12 1.97 15 32 fm 099 ] 0000
LAA 13 1.46 1.4 2.7 Eatii 0.85 | 0.0072
REEIER 1o s [Paamgmmes 109 14 23 o 0050
HYUET 15 0.81 14 2.0 fif T8 0.84
BB A OB RRE v 155.9|(mm/h) 16 0.60 1.3 1.7
BAKREE—Y:Q 1.9((m3/s) |1/3.6+f-r-A 17 0.45 1.3 1.6 -2 HKELERR
ERETHOKTREN.2Q 2.28|(m3/s) 18 033 1.3 1.4 REOEEHM| FAMME |AYRRRE 0 HKEE R Y -
T —_— 19 0.25 1.3 1.3 t(4) ri{mm/h)  [re=f-r,(mm/h) te(min)
20 0.18 13 12 1 17.0 155.9 130.96 0.182 17.64 1547 12
\‘%:—a:rx‘ 7 21 0.14 12 12 2 174 155.7 130.79 0.182 17.64 154.7 1.0
¢ \\3"&:}:—{#2 22 0.10 12 1.1 3 17.2 155.5 130.62 0.182 17.64 154.7 0.8
N =4’ 23 0.08 12 1.1 4 17.3 155.3 130.45 0.182 17.64 154.7 0.6
24 0.06 12 11 5 17.4 155.1 130.28 0.182 17.64 154.7 0.4
25 0.04 12 1.0 6 175 155.0 130.20 0.182 17.64 154.7 0.3
26 0.03 12 1.0 7 17.6 154.8 130.03 0.182 17.64 154.7 0.1
27 0.02 1.1 1.0 8 17.7 154.6 129.86 0.182 17.64 154.7 -0.1
28 0.02 1.1 1.0 9 17.8 154.4 129.70 0.182 17.64 154.7 -03
29 0.01 1.1 0.9 10 17.9 154.2 12953 0.182 17.64 154.7 -05
30 0.01 1.1 0.9 1 180 154.1 129.44 0.182 17.64 154.7 -06
31 0.01 1.1 0.9
32 0.01 1.1 0.9 =-3 HKRE AIHEFE
t r In Q
" (min) (mm/h) mr (mm/h) (m3/s)
1 17.0 155.9 155.9 155.9 1.9
2 340 131.1 262.2 106.3 1.3
3 51.0 1143 342.9 80.7 1.0
4 68.0 101.9 407.6 64.7 0.8
5 85.0 923 4615 53.9 0.7
1= ith & =1,500m2(Z /th) +8,500m2=10,000m2 6] 1020 84.5 507.0 455 0.6
7| 1190 78.1 546.7 39.7 05
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B | RIERE|BEKRE|LEXNZRE
f=8hith & Fq BEOF i &% (min) | Q1(m3/s)| Q2(m3/s)| Q1+Q2(m3/s)
B K AL FWL 35.6(m) 0 29.86 05 30.4
LS EL 33.9|(m) 1 12.19 05 12.7
=8t KR : H=FWL-EL 1.7|(m) 2 498 05 55
HETKE:V 2,000{(m3) EEATA DD ERIBH 3 2.03 05 25
H K E(Costa): Qp 29.86|(m3/s)  |Qp=325(H-V)**? 4 0.83 0.5 13
EERE:A 0.0140|km2 5 0.34 0.4 0.8
FEKERE:A2 0.0009 |km2 6 0.14 0.4 0.6
r=a/(t"+b) 7 0.06 0.4 0.5
EARE AR HBHE 8 0.02 04 0.4
EREER N 0.85 9 0.01 0.4 0.4
RS ERa 7359.61 10 0.00 0.4 0.4
R E b 36.1 11 0.00 0.4 0.4
DRI R 17]% F Ay '2) o000 04 04

LAA 13 0.00 0.3 0.3

KBRS -t 17]5 gk ARt by 14 o000 03 03
BT 15 0.00 0.3 0.3

BERRIN OB RRAE v 155.9((mm/h) 16 0.00 0.3 0.3
BAKREE—Y:Q 0.5|(m3/s) [1/3.6-f-r-A 17 0.00 0.3 0.3
BRETIKTREN.2Q 0.6/(m3/s) 18 0.00 0.3 0.3
19 0.00 0.3 0.3

20 0.00 03 0.3

LRI

i

i sg gk

N ek
§&Eg”5ﬁ

Vit
LR

ﬁﬁ\%é}?ﬁfli“.'ﬁ"}wiGl]lAtkimfz,\\"‘

Tkt T
i1

o n \,:‘— i
v BT o 8 3t S

e s F N |
o SBKER, RN g
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-1 R MRS BHEEHC
ER:LI2NN C | mif#(km2) i #
Tt 70 0.0009 AR 7230 R 1 P33
IR0} 290 | 0.0101
K H 100 | 0.0030
Bt 200
EHl 70
&t 0.0140
i Y1) 235
SR INN f A fii &
petio¥iisk 1.00 | 0.0009 BEHESH 720 i) P33
it 0.80 [ 0.0101
K H 0.75 | 0.0030
Bl 0.53 | 0.0000
B 0.85 [ 0.0000
ot 0.0140
af HL 1) 0.80
-2 HKEERR
REOEEHM| FAMME |AYRRRE g | PUKEIERS _
(%) ry(mm/h) re=f+r,(mm/h) re tc(min) " n
1 17.0 155.9 124.72 0.185 17 155.9 0.0
2 171 155.7 12456 0.185 17 155.9 -0.2
3 17.2 155.5 124.40 0.185 17 155.9 -0.4
4 17.3 155.3 124.24 0.185 17 155.9 -0.6
5 174 155.1 124.08 0.185 17 155.9 -0.8
6 17.5 155.0 124.00 0.185 17 155.9 -0.9
7 17.6 154.8 123.84 0.185 17 155.9 =11
8 17.7 154.6 123.68 0.185 17 155.9 -1.3
9 17.8 154.4 123.52 0.185 17 155.9 -15
10 17.9 154.2 123.36 0.185 17 155.9 -1.7
1 18.0 154.1 123.28 0.185 17 155.9 -1.8
=-3 HKRE AIHEFE
t r In Q
" (min) (mm/h) mr (mm/h) (m3/s)
1 17.0 155.9 155.9 155.9 0.5
2 340 131.1 262.2 106.3 0.3
3 51.0 1143 3429 80.7 0.3
4 68.0 101.9 407.6 64.7 0.2
5 85.0 92.3 461.5 53.9 0.2
6 102.0 845 507.0 455 0.1
7 119.0 78.1 546.7 39.7 0.1

FHEFHT-3







B [ RERE|HKRE|LENEHKE
1=t & 5 TLERDH % (min) | Q1(m3/s)| Q2(m3/s)| Q1+Q2(m3/s)
B K AL FWL 40.9|(m) 0 71.87 5.1 75.1
LS EL 36.6|(m) 1 36.64 5.0 39.8
1=t KR - H=FWL-EL 4.3|(m) 2 18.68 4.9 21.8
#ETKE:V 6,400((m3) 3 9.52 49 12.6
R KFH E(Costa): Qp 71.87|(m3/s)  |Qp=325(H-V)** 4 485 48 79
EERE:A 0.1560|km2 5 247 47 5.4
K ETE:A2 0.0030|km2 6 1.26 46 42
r=a/(t"+b) 7 0.64 45 35
ERREHAIRT A% 8 0.33 44 32
[ERsRE RN 0.85 9 0.17 44 29
R E R a 7359.61 10 0.09 43 28
[ErsRER Db 36.1 11 0.04 42 2.7
DRI R 2|5 F Ay 12| 002] 41 27

LAA 13 0.01 4.0 2.6

RIEEIZESR 1o 235 gk ARt by 14 ool 39 25
BT 15 0.00 3.9 25

BB A OB RRE v 145.8|(mm/h) 16 0.00 38 2.4
BAKREE—Y:Q 5.1|(m3/s) |1/3.6+fr-A 17 0.00 3.7 24
BRETIKTREN.2Q 6.12|(m3/s) 18 0.00 36 23
19 0.00 35 22

R/, TERfOM, TLELHMERRE 20 0.00 34 29
'E\'\‘\KKK . \gy = 21 0.00 34 2.1

| \\\ A 22| 000 33 2.1
j )-— 23 0.00 32 20

24 0.00 32 20
25 0.00 3.1 1.9

26 0.00 3.1 1.9

27 0.00 30 1.9

28 0.00 30 1.9

29 0.00 30 1.9

30 0.00 2.9 18

31 0.00 2.9 18

32 0.00 2.8 18

HNHRKREELROR /i, LEBOBRKEREZLFIVTHE

£-1 FHEFRBIETEEEEHRC

F-2 HOKEERME

R UONN 1 C | fiff(km2) i #
Tt 70 0.0130 P EHESH 720 i H {1 P33
IR0} 290 | 0.0727
JKH 100 | 0.0591
Bt 200
i 70 | 0.0112
&t 0.1560
fif FP 4 184
o IRAE f i fii %
Tt 1.00 [ 0.0130 FRAHESH 720 i ff | P33
i 0.80 | 0.0727
K H 0.75 [ 0.0591
Bt 0.53 [ 0.0000
B 0.85 | 0.0112
ot 0.1560
fif T8 0.80

T=&ith EFE =1,500m2 (3 /ith) +8,500m2( L 4 &) +3,000m2=13,000m2

FHEFHT-5

BEQHEHME| GRWNEE | AVERRE o | POKELERT ~
(%) ry(mm/h) re=f+r,(mm/h) re tc(min) " n
1 230 145.8 116.64 0.189 23.11 145.7 0.1
2 23.1 145.7 116.56 0.189 23.11 145.7 0.0
3 23.2 145.5 116.40 0.189 23.11 145.7 -0.2
4 233 1454 116.32 0.189 23.11 145.7 -0.3
5 234 145.2 116.16 0.189 23.11 145.7 -0.5
6 235 145.1 116.08 0.189 23.11 145.7 -0.6
7 23.6 144.9 115.92 0.189 23.11 145.7 -0.8
8 23.7 144.8 115.84 0.19 23.23 1455 -0.7
9 238 144.6 115.68 0.19 23.23 1455 -0.9
10 239 1445 115.60 0.19 23.23 1455 -1.0
11 240 144.3 115.44 0.19 23.23 1455 -1.2
=-3 HKRE AIHEFE
t r In Q
" (min) (mm/h) mr (mm/h) (m3/s)
1 230 145.8 145.8 145.8 5.1
2 46.0 118.7 237.4 91.6 32
3 69.0 101.3 303.9 66.5 23
4 920 88.9 355.6 51.7 1.8
5 115.0 79.5 397.5 419 1.5
6 138.0 722 433.2 35.7 1.2
7 161.0 66.2 463.4 30.2 1.0
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B | RIERE|BEKRE|LEXNZRE
=B @t (/M) &% (min) | Q1(m3/s)| Q2(m3/s)| Q1+Q2(m3/s)
B K AL FWL 53.5|(m) 0 4348 0.3 438
LS EL 50.9|(m) 1 19.24 0.3 195
=8t KR : H=FWL-EL 2.6|(m) 2 851 0.3 8.8
HETKE:V 3,200/(m3) 3 3.77 0.3 40
H K E(Costa): Qp 43.48((m3/s)  |Qp=325(H-V)** 4 1.67 0.3 1.9
EERE:A 0.0070|km2 5 0.74 0.3 1.0
FEKERE:A2 0.0015|km2 6 0.33 03 0.6
r=a/(t"+b) 7 0.14 0.2 0.4
EARE AR HBHE 8 0.06 0.2 0.3
[ERsRE RN 0.85 9 0.03 0.2 0.3
R E R a 7359.61 10 0.01 0.2 0.2
fErRsEE b 36.1 11 0.01 0.2 0.2
DRI R 134 F Ay 12| 000 02 02

LAA 13 0.00 0.2 0.2

RIEEIZESR 1o 13]5 gk ARt by 14 000 02 02
BT 15 0.00 0.2 0.2

BERRIN OB RRAE v 163.7|(mm/h) 16 0.00 0.2 0.2
BAKREE—Y:Q 0.3|(m3/s)  [1/3.6-f-r-A 17 0.00 0.2 0.2
BRETIKTREN.2Q 0.36{(m3/s) 18 0.00 0.2 0.2
19 0.00 0.2 0.2

20 0.00 0.2 0.2

21 0.00 0.2 0.2

22 0.00 0.2 0.2

23 0.00 0.2 0.2

24 0.00 0.2 0.2

25 0.00 0.2 0.2

26 0.00 0.2 0.2

27 0.00 0.2 0.2

28 0.00 0.2 0.2

29 0.00 0.2 0.2

30 0.00 0.2 0.2

] W 31 0.00 0.2 0.2

R/, LERfOM, FLEOMER 2 0.00 02 G

A -tE

mf:
7

F-1 FHFREFEREEEELC
RS NN C | mif#(km2) i #
Tt 70 0.0015 P EHESH 720 i H {1 P33
IR0} 290 | 0.0046
JKH 100 | 0.0009
Bt 200
EHl 70
&t 0.0070
fif FP 4 218
ke f ik fii &
Tt 1.00 | 0.0015 BEHESH 720 i) P33
it 0.80 [ 0.0046
K H 0.75 | 0.0009
Bl 0.53 | 0.0000
Eh 0.85 [ 0.0000
ot 0.0070
o - 0.84

F-2 HOKEERME

FH 27 HT-8

REOEEHM| FAMME |AYRRRE o | POKELERT _
(%) ri(mm/h)  [re=f+ri(mm/h) re tc(min) & n
1 13.0 163.7 137.51 0.178 13.03 163.7 0.0
2 131 163.5 137.34 0.179 13.1 163.5 0.0
3 132 163.3 137.17 0.179 13.1 163.5 -0.2
4 133 163.1 137.00 0.179 13.1 163.5 -04
5 134 162.9 136.84 0.179 13.1 163.5 -0.6
6 135 162.7 136.67 0.179 13.1 163.5 -0.8
7 136 162.5 136.50 0.179 13.1 163.5 -1.0
8 13.7 162.3 136.33 0.179 13.1 163.5 -1.2
9 138 162.1 136.16 0.179 13.1 163.5 -14
10 139 161.9 136.00 0.179 13.1 163.5 -1.6
11 140 161.7 135.83 0.179 13.1 163.5 -1.8
=-3 HKRE AIHEFE
t r In Q
" (min) (mm/h) mr (mm/h) (m3/s)
1 13.0 163.7 163.7 163.7 0.3
2 26.0 1414 282.8 119.1 0.2
3 39.0 125.6 376.8 94.0 0.2
4 520 1135 454.0 71.2 0.1
5 65.0 103.9 519.5 65.5 0.1
6 780 96 576.0 56.5 0.1
7 91.0 89.4 625.8 498 0.1
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B | RIERE | KR E [DENRRE
f=HME =it &% (min) | Q1(m3/s)| Q2(m3/s)| Q1+Q2(m3/s)
B K AL FWL 35.4(m) 0 54.75 1.2 56.0
LS EL 33.0{(m) 1 31.67 1.2 328
=8t KR : H=FWL-EL 2.4{(m) 2 18.32 1.2 195
HETKE:V 6,000{(m3) 3 10.59 1.1 1.7
H K E(Costa): Qp 54.75|(m3/s)  |Qp=325(H-V)**? 4 6.13 1.1 7.2
EERE:A 0.0340|km2 5 354 1.1 4.6
FEKERE:A2 0.0024|km2 6 205 1.1 3.1
r=a/(t"+b) 7 1.19 10 22
EARE AR HBHE 8 0.69 1.0 1.7
EREER N 0.85 9 0.40 10 1.4
RS ERa 7359.61 10 0.23 10 12
R E b 36.1 11 0.13 0.9 1.1
DRI R 16]% F Ay 2] 008 09 10

LAA 13 0.04 0.9 0.9

KBRS -t 16|15 gk ARt by 14 003 99 09
BT 15 0.01 0.8 0.8

BERRIN OB RRAE v 157.7|(mm/h) 16 0.01 0.8 0.8
BAKREE—Y:Q 1.2|(m3/s) |1/3.6+f-r-A 17 0.00 0.8 0.8
BRETIKTREN.2Q 1.44|(m3/s) 18 0.00 0.8 0.8
19 0.00 0.8 0.8

20 0.00 08 0.8

Ny e
/7 i

-1 R MRS BHEEHC
ER:LI2NN C | mif#(km2) i #
Tt 70 0.0024 AR 7230 M i1 P33
IR0} 290 | 0.0165
K H 100 | 0.0151
Bt 200
EHl 70
&t 0.0340

i Y1) 190

SR INN f A fii &
Tt 1.00 | 0.0024 BEHESH 720 i) P33
it 0.80 | 0.0165
K H 0.75 | 0.0151
Bl 0.53 | 0.0000
Eh 0.85 | 0.0000
arat 0.0340

af HL 1) 0.79

F-2 HOKEERME

FHEFAT-10

REOEEHM| FAMME |AYRRRE g | PUKEIERS _
(%) ry(mm/h) re=f+r,(mm/h) re tc(min) " n
1 16.0 157.7 12458 0.185 16.71 156.4 1.3
2 16.1 157.6 12450 0.185 16.71 156.4 1.2
3 16.2 157.4 124.35 0.185 16.71 156.4 1.0
4 16.3 157.2 124.19 0.185 16.71 156.4 0.8
5 16.4 157.0 124.03 0.185 16.71 156.4 0.6
6 16.5 156.8 123.87 0.185 16.71 156.4 04
7 16.6 156.6 123.71 0.185 16.71 156.4 0.2
8 16.7 156.4 123.56 0.185 16.71 156.4 0.0
9 16.8 156.2 123.40 0.185 16.71 156.4 -0.2
10 16.9 156.1 123.32 0.185 16.71 156.4 -0.3
11 17.0 155.9 123.16 0.185 16.71 156.4 -0.5
=-3 HKRE AIHEFE
t r In Q
" (min) (mm/h) mr (mm/h) (m3/s)
1 16.0 157.7 157.7 157.7 1.2
2 320 1335 267.0 109.3 0.8
3 48.0 116.9 350.7 83.7 0.6
4 64.0 104.5 418.0 67.3 0.5
5 80.0 94.9 4745 56.5 0.4
6 96.0 87.1 522.6 481 0.4
7 112.0 80.6 564.2 416 0.3
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B | RIERE|BEKRE|LEXNZRE
T=8ith & ¥R KE=Oith k5 (min)  |Q1(m3/s)[ Q2(m3/s)[ Q1+Q2(m3/s)
B K AL FWL 95.3|(m) 0 62.19 0.2 62.4
LS EL 91.4|(m) 1 29.49 0.2 29.7
=8t KR : H=FWL-EL 3.9{(m) 2 13.98 0.2 14.2
HETKE:V 5,000{(m3) 3 6.63 0.2 6.8
H K E(Costa): Qp 62.19|(m3/s)  |Qp=325(H-V)**? 4 3.14 0.2 33
EERE:A 0.0060|km2 5 1.49 0.2 1.7
FEKERE:A2 0.0012|km2 6 0.71 0.2 0.9
r=a/(t"+b) 7 0.33 0.2 0.5
EARE AR HEF 8 0.16 0.2 0.4
EREER N 0.85 9 0.08 0.2 0.3
RS ERa 7359.61 10 0.04 0.2 0.2
R E b 36.1 11 0.02 0.2 0.2
DRI R 145 F Ay 2| ool 02 02
LAA 13 0.00 0.2 0.2
RIEEIZESR 1o 14]5 gk ARt by 14 000 02 02
BT 15 0.00 0.2 0.2
BERRIN OB RRAE v 161.7|(mm/h) 16 0.00 0.2 0.2
BAKREE—Y:Q 0.2|(m3/s)  [1/3.6-f-r-A 17 0.00 0.2 0.2
BRETIKTREN.2Q 0.24{(m3/s) 18 0.00 0.2 0.2
19 0.00 0.2 0.2
20 0.00 0.2 0.2

W77 =

\\\\\ =

o' == / /
\\\\‘

=

5

7f/

%{
0

£-1 FHEFRBIETEEEEHRC

F-2 HOKEERME

ER:LI2NN C | mif#(km2) i #
Tt 70 0.0012 AR 7230 M i1 P33
IR0} 290 | 0.0048
K H 100
Bt 200
EHl 70
&t 0.0060
i Y1) 246
SR INN f A fii &
Tt 1.00 | 0.0012 BEHESH 720 i) P33
it 0.80 | 0.0048
K H 0.75 | 0.0000
Bl 0.53 | 0.0000
Eh 0.85 [ 0.0000
arat 0.0060
af HL 1) 0.84

FHEFAT-12

REOEEHM| FAMME |AYRRRE o | POKELERT _
(%) ry(mm/h) re=f+r{(mm/h) re tc(min) & e
1 14.0 161.7 135.83 0.179 14.29 161.1 0.6
2 141 161.5 135.66 0.179 14.29 161.1 04
3 142 161.3 135.49 0.179 14.29 161.1 0.2
4 143 161.1 135.32 0.179 14.29 161.1 0.0
5 144 160.9 135.16 0.18 14.37 160.9 0.0
6 145 160.7 134.99 0.18 14.37 160.9 -0.2
7 14.6 160.5 134.82 0.18 14.37 160.9 -04
8 14.7 160.3 134.65 0.18 14.37 160.9 -0.6
9 14.8 160.1 134.48 0.18 14.37 160.9 -0.8
10 14.9 159.9 134.32 0.18 14.37 160.9 -1.0
11 15.0 159.7 134.15 0.18 14.37 160.9 -1.2
=-3 HKRE AIHEFE
t r In Q
" (min) (mm/h) mr (mm/h) (m3/s)
1 140 161.7 161.7 161.7 0.2
2 280 138.6 277.2 115.5 0.2
3 420 1225 367.5 90.3 0.1
4 56.0 1103 441.2 73.7 0.1
5 70.0 100.7 503.5 62.3 0.1
6 840 92.8 556.8 53.3 0.1
7 98.0 86.2 603.4 46.6 0.1
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